ERR IS ERMMEE =

EEERE|SICDNT

O HHIIMAFZEMBDRELZ. MMEIEFEMISDREZTLTNDS,
O BRERKEZEMUNDVLE EFEMIIENMEVREREN—EREFELTLDS

25

£ FEMHEHEL -
T ® HE
|
[ 15 -
#Z)I| I * T
L 2
24! 10
i | _
* FE . 5 SR € 4B * &M
| ® BE oKX ¢ E]1N]
* % | A ¢ £
f T T e T A9/ rg T T T T 1
-25.00 -20.00 -15.00 -10'03 A 500 0.00 tast 5.00 10.00 15.00 20.00 25.00
ke 7
; . | o ME (5 1 o mE » N
& PR GE B EBM R AN 730N | 2o & ILify FR R HESE EE AL LY
P I/
- - $E$ _U'I_E’E'g _’_Tf_él.g.). e e e = = ‘_'%_*E_ — ’_*D_Txf __________ -
i # duigE ¢ EW
* BE ’%ﬁ| P Qﬁ% B8 ol B
| 1. e ® EE
O%%I (15) 1o =L * B2 ¢ X ° Bl
VAN
0wy | M * B4
(vhA+oiE) = (20) "y myy @ WE
EEmEL I * ERE
RE -10 — " (25) 1
= F EMMES = FEMEIEHEL
"RE -10 + (30) -

8t T RR265F [EET- i EAT- ERIEMRAE



